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1. Pemmre ypaBHeHne COS2X = ok
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2. Pemmre ypaBHenue Sin3x = £
| n+4nk 2n+2nk 32n+2nk . n+2nk S n+2nk
R R R R A R
] n+2nk
' T3 3
3.P sinsx— \/§
. Pemute ypaBHeHue i ok
13n+4nk 22n+875k 3n+8nk . n+8nk 5 3n+8nk
'S5 T Ps Ty Y5ty Y75ty VT e TS
63:rc+8nk
'35 s
4P S5x 1
. I'C (] aBHEeHUe COS — — — —.
IUTE YpaBHEHU 3 >
l2n+6nk 2n+6nk \ n+6nk 42n+3nk s 2n+3nk
L T S R S S L Y S
] 2w 67k
U -
5. Pemmre ypaBHenue Ctg2x = — %
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6. Pemure ypasuenne tg3x = —1.
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7. Pemmte ypasnenne sin(mt(x—2)) = 0.
n{0; 1; 2; 3; 4,5} 2{1;2;3;,4;,5 6} 3{0;1;2;3;4;,5,6; 7}
H{2;3;, 4,5 6} 5{0;1;2;3;4;,5, 6} 6 {0;1;2;3; 4}
8. Pemmre ypasuenne cos(m(x—3)) = 1.
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9. Pemmre ypaBuenue 1 — 2sin =3 = 0.
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10. Pemmre ypasuenne 1 — vV 2c0S = 0.
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11. Pemute ypaBHeHue g <Z(x— 3)) =1.
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12. Pewmre ypaBHenue Ctg (Z(x_ 1)) =1

D2 2)8 31  4H4 56 63

PEIIY EHT — marematuka



